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• Style doesn’t matter. You don’t need to comment.

• Don’t worry about imports.

• Pseudocode credit is capped at 50%.

• Edge-cases are really important.
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Expressions
• Order of operations 

• Short circuit evaluation 

• Undefined operations 

• divide by zero 

• subtract from a String 

• etc.



Operators of equal 
precedence are 

evaluated left to right



Short circuit evaluation
• x || y means x OR y!

• what if x is true? 

• y doesn’t matter! 

• x && y means x AND y 

• what if x is false? 

• x doesn’t matter! 

• This is important because it can mean error code won’t run 

• 3 == 3 || 4 / 0
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More expressions

• 4 / 7 * (double)7 / 4 

• 137 / 42 == 0 && 137 / 0 == 42

• 1 + 2 + "1 + 2" + 1 + 2

• (char)('3' – '0' + 'A')

0.0

false

"31 + 212"

‘D’
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More String problem tips

• First consider how you would do the problem as 
a human

• What do you need to remember between each 
character?

• Watch out for out-of-bounds!

• Decompose the problem if necessary













left to right or 
right to left??
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